NC objective: calculate mathematical statements for multiplication within the multiplication tables and write them using the multiplication (x) and equals (=) signs

Show the repeated addition and multiplication number sentence you have used.

There are 3 towers of 2 cubes.
How many cubes are there altogether?

359

There are 8 bicycles in a park.
How many wheels are there altogether?
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There are 10 bicycles in a park.
How many wheels are there altogether?

There are five towers of 2 cubes.
How many cubes are there altogether?
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There are two towers of 2 cubes.
How many cubes are there altogether?

3

There is 1 bicycle in a park.
How many wheels are there altogether?
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